MAT139 — Algebra Linear para Computacao
Respostas da Lista de Exercicios 7

1. (a) det(2A) = 2" det A; (b) det(—A) = (—=1)"det(A); (c) det(A?) = (det A)%.
2. (a) 0; (b) 16; (c) 16; (d) 15 (e) 16.

3. 1.

5. (a) F5 (b) Fs (c) Vs (d) Vs (e) F; (£) F.

6. det A =det(A") =det(—A) = (—1)"det A = — det A.

7
8

.0
.1

9. Dn - Dn—l - Dn—2 - (Dn—Q - Dn—3) - Dn—2 - _Dn—3 - Dn—6 = Dn—6k7 IOgO
D1ooo = Diooo-6166 = Ds = —Dq = —1.

10. As trés primeitas colunas tém que ser LD.

12. (a) e (b) 2

13. (a) T = —1, To = 5, (b) Ir = ad—be? To = ﬁ:.



